Election Summary Report

Closed Primary MONTGOMERY COUNTY

August 07, 2018

Summary for: All Contests, All Districts, All Counting Groups Unofficia Montgomery Countyl 2018 Primary Results

Precincts Reported: 11 of 11 (100.00%)
Registered Voters: 3,153 of 7,947 (39.68%)

Ballots Cast: 3,153

SENATOR for UNITED STATES (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		2,426 / 7,947 30	
Candidate	Party Tot		
TONY MONETTI		178	7.34%
AUSTIN PETERSEN		262	10.80%
JOSH HAWLEY		1,108	45,67%
FRED RYMAN		46	1.90%
CHRISTINA SMITH		1.55	6.39%
KRISTI NICHOLS		181	7.46%
BRADLEY KREMBS		18	0.74%
KEN PATTERSON		85	3.50%
BRIAN G. HAGG		34	1.40%
COURTLAND SYKES		32	1.32%
PETER PFEIFER		62	2.56%
Total Votes		2,161	

SENATOR for UNITED STATES (DEMEG), MONTGOMERY (Vote for 1) DEM

		Total	
Times Cast		631 / 7,947	7.94%
Candidate	Party	Total	
CARLA (COFFEE) WRIGHT		46	7.29%
ANGELICA EARL		13	2.06%
LEONARD JOSEPH STEINMAN II		16	2.54%
JOHN HOGAN		15	2.38%
TRAVIS GONZALEZ		10	1.58%
DAVID FAUST		24	3.80%
CLAIRE McCASKILL		473	74.96%
Total Votes		597	

SENATOR for UNITED STATES (LIBEG), MONTGOMERY (Vote for 1) LIB

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		8 / 7,947	0.10%
Candidate	Party	Total	
JAPHETH CAMPBELL		7	87.50%
Total Votes		7	

SENATOR for UNITED STATES (GRNEG), MONTGOMERY (Vote for 1) GRN

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		2 / 7,947	0.03%
Candidate	Party	Total	175,412
JO CRAIN		1	50.00%
JEROME BAUER		0	0.00%
Total Votes		1	

STATE AUDITOR for MISSOURI (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
KEVIN M. ROACH		467	19.25%
DAVID WASINGER		391	16.12%
PAUL CURTMAN		360	14.84%
SAUNDRA McDOWELL		716	29.51%
Total Votes		1,934	

STATE AUDITOR for MISSOURI (DEMEG), MONTGOMERY (Vote for 1) DEM

Times Cast		Total		
		631 / 7,947	7.94%	
Candidate	Party	Total		
NICOLE GALLOWAY	511		80.98%	
Total Votes		511		

STATE AUDITOR for MISSOURI (LIBEG), MONTGOMERY (Vote for 1) LIB

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		8 / 7,947	0.10%
Candidate	Party	Total	
SEAN O'TOOLE		7	87.50%
Total Votes		7	

STATE AUDITOR for MISSOURI (GRNEG), MONTGOMERY (Vote for 1) GRN

Precincts Reported: 11 of 11 (100.00%)

Times Cast		Total	
		2 / 7,947	0.03%
Candidate	Party	Total	
DON FITZ		1	50.00%
Total Votes		1	

STATE AUDITOR for MISSOURI (CSTEG), MONTGOMERY (Vote for 1) CST

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		6 / 7,947	0,08%
Candidate	Party	Total	
JACOB LUETKEMEYER		3	50.00%
Total Votes		3	

UNITED STATES REPRESENTATIVE IN CONGRESS for 3RD DISTRICT (REPEG), MONTGOMERY (Vote for 1) REP

Times Cast		Total		
		2,426 / 7,947	30.53%	
Candidate	Party	Total		
CHADWICK BICKNELL		379 15		
BLAINE LUETKEMEYER		1,892		
Total Votes		2,271		

UNITED STATES REPRESENTATIVE IN CONGRESS for 3RD DISTRICT (DEMEG), MONTGOMERY (Vote for 1) DEM

Precincts Reported: 11 of 11 (100.00%)

Times Cast		Total		
		631 / 7,947	7.94%	
Candidate	Party	Total		
KATY GEPPERT	506		80.19%	
Total Votes		506		

UNITED STATES REPRESENTATIVE IN CONGRESS for 3RD DISTRICT (LIBEG), MONTGOMERY (Vote for 1) LIB

Precincts Reported: 11 of 11 (100.00%)

	NAME OF THE PARTY OF	1 - William	Total		
Times Cast		8 / 7,94		0.10%	
Candidate	Party		Total		
DONALD V. STOLLE			7	87.50%	
Total Votes			7		

STATE SENATOR for 10TH DISTRICT (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
JEANIE RIDDLE		2,058	84.83%
Total Votes		2,058	

STATE SENATOR for 10TH DISTRICT (DEMEG), MONTGOMERY (Vote for 1) DEM

		Total	
Times Cast		631 / 7,947	7.94%
Candidate	Party	Total	
AYANNA SHIVERS		494	78.29%
Total Votes		494	

STATE REPRESENTATIVE for 42ND DISTRICT (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	8-1/8
JESSICA CATRON		621	25.60%
JEFF PORTER		1,699	70.03%
Total Votes		2,320	

STATE REPRESENTATIVE for 42ND DISTRICT (DEMEG), MONTGOMERY (Vote for 1) DEM

Precincts Reported: 11 of 11 (100.00%)

		Total	
Times Cast		631 / 7,947	7.94%
Candidate	Party	Total	III ORE
JOSEPH WIDNER		530	83.99%
Total Votes		530	

CIRCUIT JUDGE for CIRCUIT 12 (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
JASON LAMB		1,353	55.77%
TIM JOYCE		920	37.92%
Total Votes		2,273	

ASSOCIATE CIRCUIT JUDGE (REPEG), MONTGOMERY (Vote for 1) REP

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	الألاق
KELLY C. BRONIEC		2,068	85.24%
Total Votes		2,068	

PRESIDING COMMISSIONER OF THE COUNTY COMMISSION for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
RYAN D. POSTON		2,030	83.68%
Total Votes		2,030	

CLERK OF THE CIRCUIT COURT for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	Marin.
ROBYN R. SCHMIDT		2,111	87.02%
Total Votes		2,111	

CLERK OF THE COUNTY COMMISSION for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
KATHY HANCOCK		1,996	82.28%
Total Votes		1,996	

RECORDER OF DEEDS for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
SHEILA SEE		2,053	84.62%
Total Votes		2,053	

PROSECUTING ATTORNEY for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	
NATHAN A. CARROZ		2,045	84.30%
Total Votes		2,045	

COLLECTOR OF REVENUE for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	DE SU
ANITA L. SULLIVAN		2,119	87.35%
Total Votes		2,119	

TREASURER for MONTGOMERY COUNTY (REPEG), MONTGOMERY (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Fimes Cast		2,426 / 7,947	30.53%
Candidate	Party	Total	E World
LORI STIERS		2,029	83.64%
Total Votes		2,029	

STATUTORY MEASURE PROP A for MISSOURI, MONTGOMERY (Vote for 1)

		Total	
Times Cast		3,153 / 7,947	39.68%
Candidate	Party	Total	EMPK!
YES		1,032	32.73%
NO		2,073	65.75%
Total Votes		3,105	